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This question paper contains of THREE sections and you have to answer all questions in the
OMR answer sheet. Section "A" Mathematics contains 50 questions of 3 marks each,

Section “B” GK and ‘C’ Language contains 25 questions of 2 marks each respectively.

Section C is Language specific and is to be attempted in the chosen language.

2. et g - || (Sifgw 9dew ) F R A ¥ | maF g7 @ 6 F a5 GIr Few | 39w T F 3w 349

33 (OMR) 3eark a3 # & f&@em & | Question paper - Il ( Intelligence Paper) Contains 25

questions. The question paper will be given after 2 hours. Answers for paper Il are also to be
written in the same OMR answersheet.

3. vF WA F FAT TF W 3ol Bl TRAF BT § 3K & AT daw v e WM IR W9 o F
ST M # 97 F HU A 3T & 3R Td AT snaem There is only one correct answer for each

question. Darken only one bubble for each question. If you darken more than one bubble, your
answer will be treated as wrong

4. 3 T IR 3R YRas (OMR Answer Sheet) et & aRrT Sirdl STUal| WEUR sTd & 56
Iee) gfeae A A5 W S0 fawner a1 s 3R 58 S RqEdaS B A I AQY, ITFUT FAAN SAAr A
Sty

Evaluation of OMR answer sheet will be done on a computer. Be careful and ensure no un-
necessary marks on the OMR answer sheet/ fold or attempt to deface the OMR answer sheet,
otherwise it will not be evaluated.

5. 6 H Y& 9T F WY T Goll g3 H § Y, F f 3eax g 7 |
Rough work must be done on the additional sheet only and NOT on OMR answer sheet.

6. U SR AT AT A WA AT AT A & aY | T T A A
Write your answers in Blue/Black ink only. Do not use pencil.

7. ®ax qv5 H AT W, 37 WA 9T A FoA 24 756 ¢ |
There are total 24 pages in the question paper.
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SECTION A - MATHEMATICS

UE fae@ril & 636 FT o9& F g €9 @ IOT FX AT | 3HH 3eX 30 3R @ v
B & |

A student multiplied 7236 by 65 instead of multiplying by 56. By how much was his
answer greater than the correct answer?

(a) 87555 (b)65124  (c) 72360  (d) 65000

A
enrosaad e & o g3p 1
Simplify: 1T{2 4 2 i i (4 3)}
30 37 15 15
@z = = 5
4cm '
o mefa $r akfer sase| I 2.5cm
: Bl T 1cm
Find the perimeter of the following figure Vol
4cm 2.5cm
(a) 15¢cm (b) 15¢cm? (c) 16cm  (d) 25cm? 0.56m

U HAL A AT 9 AT X ¢ 7 § | 36T T T3 Fiella (St oo 3 W 3 Mo g 1 3w
SR & 8% AT Hierd 9 o Frele 81 9T & |

A floor is 5 m long and 4 m wide. A square carpet of side 3 m is laid on the floor. Find
the area of the floor that is not carpeted.

(a) 21m? (b) 29m? (c) 11m?2 (d) 21cm?

T Gotel UeT &1 Hed I 9¢o § AR ¢ 917 O 7 {ed X 9 §l U9 & H{ed H T §
Aol W U AT A

Cost of a dozen pens is ¥ 180 and cost of 8 ball pens is X 56. The ratio of the cost of a
pen to the cost of a ball pen is?

(@) 15:7 (b) 180:56 (c) 1:1 | (d) 8:15

TF g # RY km T T to¢ FAER ST o ¥, 2690 km T g T e F et X
Eecsccoil

A truck requires 108 litres of diesel for covering a distance of 594 km. How much diesel
will be required by the truck to cover a distance of 1650 km?

(a) 3000 litres (b) 108 litres (c) 300 litres (d) 165 litres

HAUA X 000 F by /% TS O I X F 3 a¥ & FAT A FURY S A Hiford]
Find the simple interest on X 5000 at the rate of 7%%for a period of 3 years

(a) 35000 (b) ¥6125 (c) ¥2000 (d) 31125
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fordly 37T & 0T 23 & IFIT A § FION &1 AT AT FIfSrA
The angles of a triangle are in the ratio of 1:2:3.Find the values of the angles

(a) 30,60,90 (b) 15,45,120 (c) 60,60,60 (d) 45,45,90

UE HEAT g WEAT @ 38 AHOF ¥ | 3R Al 1 ART ¥¢ ¥ ar AT 98T |
One number exceeds another number by 36.The sum of numbers is 48 then the
numbers are

(a) 40, 08 (b) 36, 12 (c) 42, 06 (d) 32,16

e wag adt & QW g & @i 1 HoT QR FHo HIOT F SRS g ¢ |

At which one of the following times is the angle between the hands of a clock exactly
one straight angle?

(a)12 AM (b) 12 PM (c)9.15AM (d) 6AM

g TS0 OIS TEAT ST ¢ A AT gl & |
Find out the smallest number which is divisible by 6, 12, 18

(a) 360 (b) 180 (c) 120 (d) 60
foe=t 0T 7 ¥ Fler 1 U FHGfASTg PFIOT FHr aRer |

Which of the following measures of angles given can be those of a isosceles triangle

(a) 90,45 (b) 60,30 (c) 120,40 (d) 90,50
UF HAAHR I d91s 3THT s F 9 VAT SET & | 39R 3uAr aRf o Jofr § ar 39a
aI%d fhaer & |

The length of a rectangle is 5 cm more than its breadth. If the perimeter of the rectangle
is 50cm than what is the area.

(a) 150 cm? (b) 250 cm? (c) 900 cm? (d) 800 cm?

2 W7 U A FT 29 @A F Q@ A 83 FH HT 0 9T fhder el F @ R g |

12 persons can finish a piece of work in 15 days. In how many days will the same work
be completed by 20 persons?

(a)15 days (b) 9 days (c) 30 days (d) 20 days

Al AT [E&AT FT A.9.9. fFaar gar ¢ |
The LCM of two prime numbers is
(a) difference/3iar (b) productErder (c) sum/AET (d) none of the above/sas & &S

et

UF Tho & fooo BHEI # F 330 I ¥ HA &, ¥oo Yoo I § AR arhr omEl & 39F
AT- T o¥sd ¥ KR & fda gfaera o 59 @ @67 3 ¥ |



17,

18.

19.

20.

21.

29

4

In a School of 1000 students, 330 come by bus, 400 come walking and the remaining
are dropped by parents. What is the percentage of students that do not ride the bus to
school.

() 67% (b) 27% (c) 50% (d) 33%

TF ¢f TUA H 8 VUF d adF &1 et forelt & g A 102 fel/ee Hr vo wwer afa @
QU FC E, 98 FRF § T UF 6T &bl & R argq 3l 81 39 qf I6m & & &

3 Fde AT oETar § (VAT H W FAA § FF IR Y amw) |

A train from Station A to Station B covers a distance of 616km at a uniform speed of
112km/hr. It Halts at Station B for 1 hour before starting back. How much time will it
take to complete the journey and reach back to Station A (i.e. from A to B and back)

(@)11 hours (b) 12 hours 45 minutes  (c)12 hours (d) 5 hours 30 minutes
U& ST Pl 6% & FFE T I 3360 F I€T IAT | 3HH AR Hed AT A |

A table was sold at 16% loss for ¥ 3360.Find the cost price of the table
(a) X 4000 (b) ¥ 3392 (c) X 3600 (d) X 4296

T A A FNE W FN A A WA IR Ta § F Jod ot § | RN Tl & AT
fFad Reo I TRIA M I W W F AT @HE IR F ot § F go7 & AT s o=
T afge|

There are 17 rooms in a school, every room has two fans and four LED bulbs. How

many switches are required for the school if every fan requires a switch and one switch
is required for every two bulbs?

(a) 34 (b) 68 (c) 102 (d) 17

&l WEAT HT UG ¢.9%¢ & 1397 § U IR ¥.ER ¢ o qEd A A |

The product of two decimal numbers is 12.194.1f one of them is 4.69 what the other
number is?

(@) 7.6 (b) 2.6 (c) 9.8 (d) 4.8

gl A T FHN X Goo H TAQN AR X 00 IHH AWHT W Y | 38 38 H AT tooo
A a9 &ar, ar 3%

Rahul purchases a chair for ¥ 600 and uses X 200 for repairs. If he sells it for ¥ 1000
then he has:

(a) no profit no loss/=T &meT 7 g1 (b) 25% loss/eTfer
(c) 25% profit/emst (d) cannot be calculated/sToTAT AgT &Y FT Fehalr

R 30 AT & e ¢4 B ARar g 13 aaaa & AR s adra sy @ ar
39T to feAT & amgAe fRaar fSefr e |

The temperature dropped 15 degree celsius in the last 30 days. If the rate of
temperature drop remains the same, how many degrees will the temperature drop in the
next ten days?
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(a) 10 degrees (b) 5 degrees (c) 20 degrees (d) 15degrees

A @ HY AR H WA I & ar T PO O T vaeer e, 59 d 3 w1 Rfer ar .
3 UFEST, 9 IR OR @& [@1ar ar i U, S99 9 i e [T af IR Uae, Sid
o O Fh [ o 9T TR | TR ST A AT FReh @A A $ vaeer A 997 | 39
I RN F FH AW A R 3 A

From a basket of mangoes when counted in -twos there was one extra, counted in
threes there were two exira, counted in fours there were three extra, counted in fives
there were four extra, counted in sixes there were five extra. But counted in sevens
there were no extra. At least how many marigoes were there in the basket?

(@119 : (b) 110 (c) 111 (d) 126

HIAAT 7 3Rl T TEIT JT W T ST T & ol 3TF 37! HI SIE 3elcT & Sl g, A
T | |
Which of the following two digit number when added to 27 gets reversed?

(a) 27 (b) 24 (c) 47 (d) 70

T T AT AT H I b9 & | IR A ALA A o00 FAMN & Al IHAI Frellel 3
et ¥ |

The ratio of income to expenditure of Radha is 7:5. If she saves I 2000 a month, what
is her annual income?

(a) ¥ 144000 (b) T 60000 (c) T 95000 (d) I 84000

U AAAHR AR & oAl T darg =SS # Hqurd 39 § | 3UA 915 ool # I 300 &l
T A & X R M A & T @ 37 ol A AHfAd e €|, I ?ocﬁ?raa‘r:frﬁar?r
fra=T @=T 3TTeT |

The ratio of the length to breadth of a rectangular lawn is 3:5. It costs ¥ 3200 to fence it
at the rate of ¥ 2 a meter. What would be the cost of developing the lawn at the rate of
% 10 per square meter?

(a) ¥ 18,00,000 (b) X 15,00,000 (c) X 19,00,000 (d) ¥ 21,00,000

A,B 3R C T IHH Hl 3JTH # ¥R & IHeud # died & | 39K B &1 REAr T R’ &
ar it WA A9 e |

A, B and C divide an amount amongst themselves in the ratio of 4 : 7 : 9 respectively. If
B's share in the amount is ¥ 2989 what is the total amount.

(a) ¥ 9820 (b) % 8540 (c) % 2720 (d) ¥ 8640
UF FET & go TEl HT AT WY ¢¢ ¥ ¥, 5T Th AU H WiEATHT BFar swar § a

AT 3G 2% ¥ g Sl & | 3T H I el § |

The average age of a class of 40 students is 18 years. When the teachers age is also
included to calculate the average age becomes 19 years. What is the teacher’s age?

(a) 59 years (b) 69 years (c) 49 vears (d) 39 years
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What is the greatest number which when divides 3026 and 5053 leaves remainders 11
and 13 respectively?

(@) 15 (b) 30 (c) 45 (d) 60

IF 991 A 931 §EuT S A § EH 3026 U1 5053 F AT S G HAW: 1 AT 13 Av T ?

(@ 15 (b) 30 (c) 45 (d) 60

Ravi purchased a chair at Rs 500 and sold it at Rs 550.What was his gain or loss
percent?

(@ 10% (b) 20% (c) 30% (d) 40%

Tfaa 500 F9 T HHf WUET AR SH 550 FYA G &7 |3HRT W17 AT g1fer Wlcrerey a=ar 412

(@ 10% (b) 20% (c) 30% (d) 40% '

A certain distance is being covered in 28 hours by walking with a speed of Skm/h. If the
speed is increased by 2 km/h then in how much time the same distance will be
covered?

(a) 30 hours (b) 15 hours (c) 20 hours (d) 25 hours
5 Rpat.afe gy & 1 § Toret o fonedt gt 1 28 we A 9 Ram S Wb ¢ Afe a1 2 et ufa

HeT del &1 ST At I8 oY e | 7 gt g1 sreei?

(@ 308¢ (b) 158¢ (c) 208¢  (d) 25&C

A piece of wire 7/8 meter long broke into two pieces. One piece was 1/4 meter long.
How long is the other piece?

(a) 4/8m (b) 58m (c) 6/8m (d) 7/8m
AR T U AT 7/8 FIET FEl & T F €T S| U AT 1/4 HieX el A igad S frae o 87
(a) 4/8 HIEX (b) 5/8 #reX (c) 6/8#HEX (d) 7/8#I

What is the missing number in the sequence 2, 5, 10, 14, 18, 283, 26, 32. ..7

(a) 33 (b) 34 (c) 36 (d) 37

Aoft 2,5,10,14,18,23,26,32,..7 o Ug T & ?

(a) 33 (b) 34 (c) 36 (d) 37

30 men can do a piece of work in 16 days. In how many days 8 men can do the same
work?

(a) 30days (b) 40 days (c) 50 days (d) 60 days

30 3T fRdY 19T Y 16 o H FATTT FLa 81 8 A [Fhas IGe & wareqd + 9 82
(a) 30/¢ (b) 40’7 (c) 50T (d) 60TH

Ram, Shyam and Mohan runs at speed of 75,50 and 30m/minute respectively. After
how much time will they meet together for the first time running with the same speed?

(a) Shours (b) 2 hours (c) 3hours (d) 5/2hours

T, ST, Fge HAA: 75, 50 T 30 HeX 9fer Fiete i arer & 2t §1 Sl g vgeh W aw
foraett 8T &g 39| # Aeldr 2
(a) 58 (b) 2®Ee (c) 3©¢ (d) 52T
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Represent 26kg 5 gram using concept of decimals.
(a) 26.05kg (b) 26.005kg (c) 26.5kg (d) 26.0005kg

ZAATT T FTURVT T 3GAT HX 26 et 5 A 1 wiafatea H{l
(a) 26.057RcNaTH (b) 26.005fFeaTH (c) 26.5FFaEmA (d) 26.0005 FaramA

At what rate, a sum of Rs 6000 will amounts to Rs 7800 in 5 years?
(@) 3% (b) 4% (¢) 5% (d) 6%

T 2T 9T, 6000 FI & A 5 Frer A 7800 39 g1f?
(@) 3% (b) 4% () 5% (d) 6%

What will be the depth of a cubical pond whose volume is 729m3?

(a) 9m (b) 6m (c) 8m (d) 5m
IH AT ST T IS fhcdel areit Toraent Had 729 O HIeT 87
(a) 9#HRX (b) 6#H (c) 8#HEI (d) 5#HRT

Evaluate

3X7 +4-6 - 3-7 + 45 = 5x4 + 49

(a) 101 (b) 103 (c) 99 (d) 35
HodTha AL

3X7 +4-6 = 3-7 + 45 = 5x4 + 49

(a) 101 (b) 103 (c) 99 (d) 35

In what time a train whose length is 100m moving with a speed of 60km/h crosses a
platform whose length is 150m? :

(a) 15s (b) 14s (c) 18s (d) 20s

60 TralY. wfay ver 9y & =er I8 ¢ TorehT &a1s 100 #Hiex & v 150 HieT o woiewe & hdey
AT A IR L A?

(a) 15 W&vUs (b) 14 JFvs (c) 18 Qv (d) 20 F*vU3

Ashu takes 12 days to complete the work. Pranav takes 10 days to complete the same
work. Ashu, Pranav and Ramu take 5 days to complete the-same work. How many days
will Ramu take to complete the same wOrk:?

(a) 70days (b) 90 days (c) 60 days (d) 50 days

3 T 1A T 12 e 3 T Fehdll & 190Ta 38 1 &1 10 e 3 &1 Favel & 1377, 90T T T
AT TSR 33 HT1H Pl 5 T 7 QU T ¢ dl TH 3 HIH FI kel foeT 7 Ham?
(a) 70 fe= (b) 90 R (c) 60 R (d) 50 fe=
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The LCM of two numbers is 28 times of their HCF.The sum of their LCM and HCF is 1740.1f one
number is 240 then what is the other number?

(@) 420  (b) 460 () 500  (d) 380

& TET3HT T oF.F. 357 AF. FT 28 T[T ¢ |37 .4, R AF. FT AT 1740 € AR 37 A 0
TEAT 240 ¥ Y g8 F&IT AT FR17?
(a) 420 (b) 460  (c) 500  (d) 380

Four clocks rings at the time interval of 6s, 8s, 12s and 18s respectively. If they ring
together at 12 am then how many times will they ring together within the time span of 6
minutes?

(a) 6times (b) 4 times (c) 7times (d) 5 times

TR af3ai 6, 8, 12 3R 18 AHUS & HeR W Ioidl ¢ 191E T TRE ToF Teh /1Y To1aT TRH FIAT & af 6
fReTe & 312 9% fFae IR U a1y §a190?

(a) 68X (b) 48X (c) 7R  (d) 53R

What is the least multiple of 23 which when divided by 18, 21 and 24 leaves remainders
7, 10 and 13 respectively? ' .
(@) 1240 (b) 3013 (c) 2364 (d) 7628

23 =7 THT HaH BIeT A0S o 18, 21 30 24 F HIET & W HA: 7, 10 3 13 A9 F=ar § 98 87
(a) 1240 (b) 3013  (c) 2364  (d) 7628

A milkman has two cans of milk containing 75 litres and 45 litres of milk respectively.
What will be the measure of largest vessel that can measure the milk of the two cans

exactly?

(a) 12 litres (b) 18 litres (c) 15 litres (d) 10 litres

U g1 dTel hl Teh ST H 75 e a1 ga Sh1 7 45 olieX gu ¢ a6 931 & 31 A1 &1 gl =i
QT el T qU-qU g A §H?

(a) 12X (b) 18 @Y (c) 15X (d) 10X

A table was purchased at Rs 1000 and was sold at Rs 800.What was gain or loss% in
this transaction?

(@) 5% (b)10% (c) 20% (d) 30%
U 9ol 1000 $9 9T WIET 3147 3 800 TUY U ST I1-AT ATISH eAeal H oITe AT &A% 4T UT?
(a) 5% (b)10% (c) 20% (d)30%

The average weight of 6 boys gets increased by 5kg if a boy-with weight 20kg is
replaced by a new boy. What is the weight of new boy?
(a) 41 kg (b) 50kg (c) 65Kkg (d) 49kg

- ——
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6 STl H ¥ Tah 20 THall ATH $IR aTe) IS I [T T 3TF TATT T T 570 956 H @A &
Fear 3raa #X 5 e 98 17| AT d5% FT AR FATR?
(a) 41 Traame (b) 50 FhatamE (c) 65 fraame (d) 49 fraEmmT

A man covers a distance of 40km.He covers first 10km at 10km/h, second 10 km at
20km/h, third 10km at 30km/h and last 10km at 40km/h. What is the average speed of
man?

(@) 18.2 km/h (b) 19.2 km/h (c) 19.0 km/h (d) 16.2 km/h
T cafdd 3qet 40 fRaT. Fr amr 7 gger 10 fRa. 10 R mﬁmﬁammh{ﬂho
fett. 20 Rt ufey ger &y aifar &, v 10 foedt. 30 fnadt. wfawer & aifar & 33 3y 10 e,
40 Tair. ufcrder i a1 & 97 T ¢ (safea & i aifer Far g2 -
(a) 18.2 fFsfrufaeer b) 19.2 fFRefrufaeer (c) 19.0 s afawer (d) 16.2 fFat. gfaeer

If area of rectangular garden of 5m breadth is 300 sq. m, then what will be the length of
garden?

(@ 60m (b) 70m (c) 80m (d) 90m

5 AreX disT FAATHR 3T T &% 300 T AL &, a a?n?}aﬁramé Far graf?

(a) 60 #HreX - (b) 70#RIT (c) 80#HAI (d) 90 #HreX

If the square of a number is added to the square of 28 the result is 1808.What is the
number?
(a) 66 (b) 50 (c) 32 (d) 16

U HEAT & q91 # 28 &I 331 1S I 1808 1T § |98 HEAT F4T g1aN?
(a) 66 (b) 50 (c) 32 (d) 16
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HIT G - AT AT
SECTION B - GENERAL KNOWLEDGE

S T 3T # U e St & eaTd 1A 8, 30 ST &1

Those who study things that were made and used in the past these people are
called '

(a)Shafa==tr Biologist (b) RRIcicafaat Archaeologists

(c) fA=TTeir Geologist (d) Rf¥Fcas Doctor

AT & WY easr &Y disT$ & Urd 1 I AT 87

What is the ratio of width to the length of National Flag of India?
(a) 4:5 (b) 2:3 (c) 1:1 (d) 5:6

Where is Wagah-Border located?

(a) =ferarer, sy Longewala, Rajasthan (b) #ARE, AT Moreh, Manipur
(c) #=& & ¥, IR Rann of Kutch, Gujarat  (d) 3rfaeR, gster Amritsar, Punjab

WA 4R T (NI &R [t @ F=Rfad @@ & @ G s 32 &
airer T & wFEATTeT foRar arr ar?

Out of the following list of Param Vir Chakra(PVC) Awardees who was awarded with
PVC during Kargil War?

(a) Af¥esie Faiar HERR Feifsll AT Lt Col Ardeshir Burzorji Tarapore
(b) 2 / diftFeeie 31¥0T Waxdrel 2/Lt Arun Khetarpal

(c) et faswA &a1 Capt Vikram Batra

(d) ASR \WHATT AT Maj Somnath Sharma

ffaf@d # @ 5w 5T o @8 hd 1 JfAERE qwsd # & 6 &« A

IYATT £7?

Which state among the following has adopted Sanskrit as its one of the official
languages?

(a) feFraer weer Himachal Pradesh  (b) 3caRi@s Uttrakhand
(c) IrTEUTT Rajasthan (d) 3caX we=r Uttar Pradesh
HRA & TaAT 3USeafa @i 87

Who is the current Vice-President of India.?
(a) & 7i¢& AEr Shri Narendra Modi  (b) &t d%ar arIg Shri Venkaiah Naidu

~ (c) & 31%UT SAcer Shri Arun Jaitley  (d) 2t W& ATY Fifde Shri Ram Nath Kovind

gl AR 3aehr NARAT 7 AAvaar [@a arer e Rifscada Rifecas|

A medical practitioner specializing in children and their diseases
(a) F3efee Geologist (b) dfe3f3f Paediatrician

(c) FIfEATaTTIEe Cardiologist (d) =areToree Neurologist
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ARt & v @ag F T FeT AT 82
A group of stars is called a

(a) |k gomelr Solar system (b) Constellations siar=3#5 s
(c) urg Planets (d) tEwehq Comets

maﬁwﬁﬂzﬁﬂwmwaﬁaﬁﬁmﬁmmm

Which gas when solidified is commonly known as Dry ice?

(a) FTeeT AAHTFATSS Carbon monoxide (b) AegH 3iTEFATEsNitrous oxide
(c) FTT SIE3FATES Carbon Dioxide  (d) g/83stl GIaFaTs8Hydrogen peroxide

T T & ST &1 IHad FAF hdar gl Tl ¢

The members of the Rajya Sabha can have a maximum tenure of how long?

(a) ura @rer Five years (b) B @rer Six years
(c) wra @rer Seven years (d) & @re Two years

ot sirdreie fre Wel & S3T 83 B2

P Gopichand is associated with which Sport?
(a) dsfAer Badminton (b) frse Cricket
(c) pearar Football (d) grhr Hockey

fFafaf@a & @ siF & duel Aasa a8 Judr 82
Which of the following company does not sell mobiles?
(a) ¥oaer Apple (b) srvwwsvar BSNL (¢) TadfiHP  (d) &i=ir Sony

S 3R gl 9 AET XA A GATH U diged Sl T Fegl STl g7
A vehicle capable of travelling over land and water is called

(a) Bravshree Hovercraft (b)_a’ramw Rovercraft
(c) AratshIFe Mewercraft (d) FR Car

HRA TEN & HANET PRk I SEHTA Flal dlell GEAT HlAdl 67
The space programme of Government of India is looked after

(a) IMSTHSET ISBT (b) T3 NTRO
(c) siTaTs NABARD (d) 3ERT ISRO

HAT AT & HEY arT &
The Motto of the Indian Navy is
(a) §4F Hafcad FIET Sarvatra Sarvottama Suraksha

(b) T AT @¥OT: Sham No Varuna! |
(c) drar 3K fags Valour and Wisdom
(d) 781: TGN o Nabhal | Sprsal | Diptam
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Which is the largest gland in human body?
(a) Salivary gland (b) lungs (c) liver (d) stomach

ATeTd W A T 31 7Y Hler-Ar 82
(@RI  (b)FFHs (o) R (d) 9T

Who has written ‘Sare Jahan Se Achchha'?
(a) Rabindra Nath Tagore (b) Bankim Chandra Chatterjee
(¢)  Muhammad igbal (d) Subash Chandra Bose

AR ST § 3T A Fua foarg?
(a) WeATT IR (b) Sfehaes TEll (c) HFFHAT Sharel  (d) Gy o5 g

Which is the deepest ocean?
(a) Indian Ocean (b) Arctic Ocean (c) Antarctic Ocean(d) Pacific Ocean

T IE AZTHPR HlA-AT1 &7
(a) g ABMPR (b) 3IHRH FBIEER (c) 3ckhied HEMENR () WIid ARTARR

Who fixes the salaries and the allowances of the Speaker of Lok Sabha?
(a) Council of Ministers (b) President (c) Parliament. (d) Judge of Supreme Court

TR & @ i aF T & THHT & 3a4 3T Aed ) S HIar 82
(a) w3 HralRwg (b) Tsgufa (c) §Eg (d) GO I & Farareirer

Which article of constitution provides Indian citizen ‘Right To Equality™?
(a) Article 12 (b) Article 13 (c) Article 17 - (d) Article 14

mmwm-mﬁmmmﬂmwmm FIATE?
(@) 3Te8E 12 (b)IFeda 13 (o) 3 17 (d) ifeaq 14

1024 Kilobytes is equal to?
(a) 8 Bits (b) 1 Megabyte (MB) (c) 1 Gigabyte (GB) (d) 1 Byte

1024 fohel 1S SIS 87

(@) 8fecw (b) 1#emETEe (WAEN) (o) fIMSTSE (SMEM)  (d) 1EEE

Hirakund dam is built on the river?
(a) Cauvery (a) Mahanadi (a) Krishna (a) Sutlej

BT &3 S7eT o ACT IR ST a7 &7 _
(a) Al (b) FgTeACT (c) ot (d) |eTelst
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73.  Deficiency of lodine causes?

(a) Goitre  (b) Malaria (c) Cataract (d) Scurvy
A Fr Fall F FlF-Tr AT gIare?
(a) €T (b) FRT (c) Fnferafec (d) T=hat

74.  Who is known as ‘Iron man’ of India?
. (a) Jawaharlal Nehru (b) Mahatma Gandhi
(c) Sardar Patel (d) Subhas Chandra Bose

HRA &' oAIgqey "o &9 H Hlel SAT STl 67
(a)STaTEReTel AB® (b)HETCHT el
(c)FTER 9ol (o) gy T/ I

75.  Which among of the following is not an Indian Sport?
(a) Kabbadi (b) Kho-Kho (c) Hockey (d) Rugby

318 O Pl TT ARAT WA ApT 67
() FEsST (b) T-T|Y (c) BT (d) Ty

SECTION C - LANGUAGE

(Only for those attempting English Language)

Read the following passage and answer the questions (Question 76 to 80).

From far out in space, Earth looks like a blue ball. Since water covers three-fourths of
the Earth’s surface, blue is the colour we see most. The continents look brown, like small
islands floating in the huge, blue sea. White clouds wrap around the Earth like a light blanket.
The Earth is shaped like a sphere, or a ball. It is 25,000 miles around! It would take more than
a year to walk around the whole planet. A spaceship can fly around the widest part of the
sphere in only 90 minutes.

Even though spaceships have travelled to the Moon, people cannot visit the, Moon
without special suits. The Moon has no air or water. Plants and animals can't live there either.
Astronauts first landed on the Moon in 1969. After that, there were six more trips to the Moon.-
They brought back Moon rocks, which scientists are still studying. There are holes, or craters,
all over the Moon's surface. Scientists believe that meteorites smashed into the Moon millions
of years ago and formed the craters.

The Sun is the closest star to Earth. A star is a hot ball of burning gas. The Sun looks
very big because it is so close. But the Sun is just a medium-sized star. Billions of far-away
stars are much bigger than our Sun. The burning gases from the Sun are so hot that they
warm the Earth from 93 million miles away! Even though the Sun is always glowing, the night
here on Earth is dark. That's because the Earth rotates, or turns around, every 24 hours.
During the day, the Earth faces the Sun. Then we see light. During the night, the Earth turns
away from the Sun. Then it faces the darkness of space. Each day we learn more about the
Earth, the Moon, and the Sun

76. Why is blue the colour we see most when looking at Earth from outer space?
(a) Because most of the Earth is covered in land.
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(b)  Because the Sun’s rays make the Earth look blue.
(c)  Because most of the Earth is covered in water.
(d) ~ Because clouds wrap around the Earth.

77. What does formed’ mean?

(@  hit
(b) made
(c) broke

(d)  stopped
78.  What causes daylight on Earth?
(@)  The full Moon causes daylight
(b)  Daylight is caused by the Earth facing away from the Sun.
(c)  The heat of the Sun's rays causes daylight.
(d) Daylight is caused by the Earth facing toward the Sun.
79.  Which of the following sentences BEST describes the Sun?
(a)  The Sun looks small because it is so far from Earth
(b)  The Sun is a ball of burning gases that gives the Earth heat and light.
(c)  The Sun is a small star.
(d)  The Sun is not as hot as it looks.
80. Why did the astronauts bring rocks back from the Moon? !
(@) Because they didn’'t know if they would return to the Moon ever again.
(b)  Because they wanted to prove that they went to the Moon.
() Because they wanted to remember how the Moon looked.
(d)  Because they wanted to study them and learn more about the Moon.
Choose the most appropriate option given against each question.
81.  Which word means nearly the same as "scream"?

(a) find (b) stop (c) sell (d)shout
82. Which word means nearly the same as "happy"?
(a) conditions (b) disgusted (c)content  (d)ambitious

Choose the appropriate options to complete the sentences
83. The men are working. Their ---- are at home.

(a) wife (b)husbands (c)husband (d)wives
84. Rahul works less ---- than Mohan. _
(a)carefully (b) more careful (c)careful  (d)careful as
85. It ---- all day long yesterday.
(a)was rained (b)raining  (c)rained (d)has rained.-

Rearrange the following words/groups of words to make meaningful sentences. Choose
the correct sequence given in the options.
86.  quite happy /i was/ the first prize/ to receive.

C D
(a) BADC (b) ABCD (c) DCBA (d) BACD
87. protect/ we must / natural resources /our. '
A B C D
(@) ABCD (b) BADC (cc ACDB (d) DCAB

Choose the appropriate option to fill in the blanks:
88. One who leads an austere life

(a) Ruler (b) Auditor' (c) - Ascetic (d)  Carpenter
89. A person who presents a radio/television programme.
(a) Director (b)  Actress (c) Actor {d)  Anchor

90. Pick the gender of ‘Lad’ )
(a) Lass (b) Queen " (c)Woman (d)Dame




1.

92,

93.

94.

95.

96.

97.

98.

99.

100.
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Choose the gender of ‘Fox’

(a) Filly (b) Goose (c) Witch (d) Vixen

always stood third in her class (supply the correct pronoun)

(a) You (b) They (c) He (d) She
All the candidates should bring own pen (supply the correct pronoun)
(a) Everyone (b) They (c) Nobody ' (d) Their
Experience is the teacher (supply the correct adjective)

(a) Better (b) Good (c) Best (d) Great

a beautiful scene it is ! (pick up the correct adverb)

(a) What (b) How (c) Always (d) Never
Did you apply this post? (Supply the correct preposition)

(a) To (b) At (c) For (d) Of
You should take care your health (supply the correct preposition)

(a) Of (b) In (c) At (d) To
He is rich he is not happy (supply the correct conjunction)

(a) Yet (b) Though (c) Because (d) But
Work hard you will fail (supply the correct conjunction)

(a) Or (b) Still (c) Because (d) Either
The child for two hours (select the correct form of verb)

(a) Has been sleeping (b) Have been sleeping

(c) Has slept (d) Will sleep
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$IT3T ‘97 - STTNT(haer fEdY smar & oflayr 2 gt & RAT )
frafafa srede w¢ 3k warei(mea ve @ ¢o aF ) F1 Faw &
A i 1 gga IS 1T WAl & AT 3ugea Asweq giac-
HIST Aol 9ol g1 37 -9 & SRl ¥ U9 @l d & drEdr gl
Rl oS &yl &/ §, 38 Tarsfaes 0T AT §, IHEH aAfae, Iedrions 3R
gfas aRT Far &, 5w vy d sgdr 3R &, s ash st &1 3= &&
IHH HATT A BT Bl R HETRY & wud § 6 afe TR @+ BT ud geed
FATT &7 dr 3TF eI B SWAT TIRU| IHd: 39 G A §, Ay T &, sw@ &
3q IRTT AFAT &1 GEIITT TR W IREATT § ST dlle AT e S @
mm%lwﬁwmﬁwtqﬁaﬁmﬁﬁamﬁla@%
A g 3 3 Hew A T gISe T o I I 99 W 93 o 9% aceor AT

SmeElt| afE F@Aer ¥ @ g W9 & g@ A N O 95 seoaenAior sReiiag geder
$r Agear Bl

76. HI IO R FH Fol & A@dT 87
(a) wfa & (b) AT & (c) 3= =¥EER & (d) 39t ShaeT &

77.  #HqsF Far gl g7
(a) 3rearfcA® (b) #Afa= (c) Jigvorier (d) e

78. gHITY UREATT & AT FT 82
(a) FIfF sEA T M e A ST § (b) T WIg Fr TAT FT Sl &

(c) 38Y afdad AAATT AT & (d) I =TT I THE a1 ol ¢
79. FEIGEY FRE FHME FT 30T 87

(a) cgdHTT FATH (b) TCITY HHAH

(c) FHURT FAH (d) &faer T
80. ‘WEWR '@ &T 7Y g2

(a) IrY IAARES arelr (b) | FHH FA ATl

(c) |1 g arar (d) |y @& arer

mmaﬁmmmﬁm##ﬁaﬁmaﬂ

81. ﬁmﬁ#%amWamww@aﬁ%i
(@ M@ (b) @& () o (d) s

82. far # @ Flawr Use ‘& AUse I FAIAT gl €
(@) A (b) @& (c) oI&d (d) arEr
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83. ‘&g s I faclH wU E:

(@) #er (b) Ao (c) fose=T (d) 7Y
84. ‘'diared ' ersg & faeld w9 &
(@) @& (b) =aUH (c) TR (d) fEaa

c

foe=r areat /ereg woE % A Rw v Rewewt # @ 3R g #7199 X
85. TS AIEA dTedl.
(@) feadr (b) Rifaa (c) ey (d)  uRE
86. gEY O W U & H HIAG L.
(a) faTa (b) TrEEa (c) 3Imaa (d) oaeq
87. Sfgl 9gdl o S §H
' (@) 39Pa (b) FRER (c) 3wewa (d) 3w
TdF Ay T & v gl & i@ <l /1 gl w1 gaedafua w11 Rwedt
Rw v 7 FFEA F1 99T F
88. Al gH 3TN/ EU/HAT GUREAT

A B LD
(@) BADC (b)  ABCD (c) DCBA (d) BACD

89. dME HRCAME VAT &/ Tl FICciish/ dRATIGhIhIRIBIT HIrl/ Fefilehish fAT e/
A B Tl D
(a) ABCD (b) BADC (c) ACDB (d) DCAB

T arv ereat Y ¥ TS & wry Reey Fr RAPaT w4
90. (a)SHalar (b) THadT  (c) SHhaldr  (d) VFHarAr
91. (a)EJT (D) ¥TE (o) ¥qUd  (d) &€
Rea e s & v 3ugsd RAeweT o
92. <offer IS¢ gl arar
(a) &g (b)  araTH (c)  &TUTITIR (d) =g
93. gW #T aral A q@ el |
(@) AR (b) IFFEA (¢ R (d) Fae

TedF T3 & 39 BT 17 [{eu) & ¥ 3T Reey 1 999 fifw:

94. %1 # O HloAar e IHA FH IATIAT 76 82

(a) gar (b) 31T (c) HAT (d) agem
95; o & @ Flaar s &RoT F1 gArzar 787 &2
(a) T (b) FT (c) TR (d) RaT

96. WIFDT IGEECI]

(a) FEATAT (b) HE= (c) wdTSeT (d) Fereeif
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o=t g & v 7Y Rudiards s (RFe) F71 937 fAfT:

97. @A
(a) GXTcTT (b) SreieT (c) Jrareiier (d) T

Amfaf@a asal & fow af - A3 (Reew) &1 99+ fifew:
98. gTaRA

(a) Ga+aRT (b) &+ alT (c) Teg+ alT (d) Fear + aRF
99. fAUuUR

(a) AT+ 3R (b) B 43R (c) fov+ 3TEIR: (d) @ +3muR

il s & wgaa St s e o1 997 ik

100. HodH
(a) G (b) & (c) 9§ (d) §H
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101.

Find the missing number in the number

series given below:-

3 A A FirogEer # gE ge HE A
g |

06, 11, 21, 36, 56,.7

(A) 42
(B) 51
(C) 81
(D) 91
102. | Find the missing number that has same | f\e & a1t H&ar A@ar # 19 F&AT F1 ST
relation to 26 as 37 has to 19. e 37 & ¥y § | &% 3¢ F HUR W
26 H&AT & fAT ? ¥y W Y 1w RFaeat
# ¥ FlT @ &g arer &weq gem ?
19 : 37:: 28 7
(A) 52
(B) 51
(C) 46
(D) 43
103. |If you see the problem figure in the | af& mpfa X' &I ador & 2@r sw

mirror, which figure out of the four
figures A, B, C, and D will be the mirror

image of figure ‘X'

g gfafess & =it IR it A, B,
CauwD#HI P TF F A g ?

; |o oll |o °

. A A i

: o 4 o iy o
X A B C D




is to___.

104, | Choose the word which is least like the | 3% reg #r Y S g@Y w=al & ¥g @
other words in the group. A T @rar g |
(A) PICTURE
(B) POSTER
(C) BOOK
(D) SCENERY
105. | Which of the following diagram indicates | #/r fe&r @ &y & ¥ ala @ &y e,
the best relation between Travelers, TS AT S & TAY F 3ocd T H
Train and Bus? aMelr & ?
A B C D
106. | If CAR is to PETROL then TELEVISION | CAR &7 Sit ®ser PETROL T & e qay

TELEVISION & F g g |

(A) ANTENNA

(B) TRANSMISSION
(C) ENTERTAINMENT
(D) ELECTRICITY




107.

Which figure among the four figures A,
B, C and D would replace the question

mark in figure ‘X'?

& X i A ¥ 7 e W RF
fa&edl A, B, C IaT D & & i & AFeq
3mepfer 3mesir 2

X

% X i N

108.

A class of boys stands in a single line.
One boy is nineteenth in order from both
the ends. How many boys are there in

the class?

U FET & Srole At oS & @3 g1 398
X TF ASH B F o B F Sead
T 9T @eT &) 9130 Fem & fFaa as%
g7

(A)
(8)
(C)
(D)

27
37
38
39

109.

If you fold the transparent paper along
the dotted ‘X' which
alternative figure from A, B, C and D

line Figure

would you get?

Ifg; aReRlf 9 W &=l X A H Ry
T & YR W AT A @ 9§ & A0
fw faseq 3mHfd A, B, Cdar D &
A gl ?

PR R TR




110.

If SCHOOL is to EDUCATION then | SCHOOL =T Y ey EDUCATION @ ¥
BANK isto _ ? ag ey BANK &7 &g ¥ grem ?

(A) ATM

(B) CHEQUE
(C) LOAN
(D) LOCKER

111.

If the given word is seen in mirror, which | @& 1T g T afE guur F &F ar R
alternative would resemble its mirror | 3T fasedt & & fpg & GHTT 1T ?

image?

SHARE
(A 3dAAHS (8) IRAHE

©) JAHAS (D) 3J2AHE

112;

Choose the alternative that resembles Y R e wear LRl @ uf; e A
the water image of the given alpha - i >ar ST ar swaT uafEe 22 g A |

|
numeric series below:- X g & FAE @ 2w ?

HR26420

(A) OSaiSHH (B) HYSe<¢SO

()  OSKessH (D)  HBSeYsO




113. | Choose the word which is least like the | 31 2reg 1 A St @Y Ueal & T &
other words in the group. A 16T @rar |
(A) EARTH
(B) SUN
(C) MERCURY
(D) JUPITER
114. | Which figure among the four alternatives | &% are fasedt A, B, C @1 D # & &l
A B, C and D would replace the | ¥ 3T X # sevaras e 7’ & U=
question mark in figure X? W3 2
X A B Cc D
115. | If all directions are rotated clockwise by | afe I &=t &r e $r feT & 90° H

90° angle i.e North is changed to West,
East to North and to on, then what will

come in place of North West?

FoT @ gAT @r S, S9 & - 3o #7
URgH, qF H IeaX o1 &A1 FT, A ey
ufdas fGem & Serg FHladr feem el ?

(A) SOUTH - WEST

(B) NORTH- EAST
(C) SOUTH - EAST

(D) EAST - WEST




116. | Choose the word which can be formed | R 1T fRsredl & & @i @ e &
from the given word :- T AT U T HhaT & ?
INFRASTRUCTURE
(A) RUPTURE
() SCULPTURE
(C) FRACTURE E
(D) VULTURE
117. |If you see the problem figure in ‘the | afe 3mpfa X' = gdor & &@r 57 a
mirror along the dotted line, which figure | 3% Sfafeed & -l ¥R 3npfaar A, B,
out of the four figures A, B, C and D | C, D IR Rwedl # & 5w t& & ¥
will be the mirror image of figure ‘X' g ?
- ; +— §— il B
Y ML, Lo
74 & W W U
+— 5 —p —) 4 e
X A B C D
118. | Choose the word which is least like the | 3% ereg # IfeR St g@Y ereal & &p @
other words in the group. AT A7 WrAT § |
(A) STUDENT
(B) LAWYER
(C) MECHANIC
(D) ENGINEER




119.

If you see the problem figure ‘X’ in the
mirror, which figure out of the four
figures A, B, C and D will be the mirror

image of it.

afg X' i @ edor # @r s ar
3T gfaferd & = 9R JHfaar A, B,
C aur D fasedl & ¥ fFy vF & A
gramr ?

I 5

o |

o

120.

[
If “+' means + , means ‘=, ‘-

means ‘X' and ‘X’ means ‘+, then what

would be the answer of the equation?

qﬁ [ a;‘r |+-' € — Eﬁ‘rt_s' 55 aﬂ- lxv m
x @+, Q@ Fw, gy G & i
FHISHIOT H Ical FAT @9 ?

12+6+~3-2x8=
(A) -2
(B) 2
(C) 4
(D) 8
8
- «e‘.s.":.i' e e— ” SRR Y I 7




121.

Figure X' is embedded in any one of
the four alternative figures A, B, C or D.
Find the alternative which contains figure

‘X' as its part.

A ju IrT et A, B, C3IR DA &
el v Reed & 3 X Ipfa o
g ¥ | 3@ Reew & gRe T X
FrEf Rl v s & B s ¥ |

UL

28 Pl ¥

X A

B C D

122.

If ‘¥ means ‘X', ‘X’ means '+, '+' means

“ and ‘~ means ‘¥, then what would

be the answer of the equation?

qﬁ (E a;T |x" w' a,-;T |+n' et aﬂ- iy "

Fr ¥+, fom@r av, d9 A & = seaee

FT Ical &1 g ?

16x3+5-2+4=7

(A) 9

(B) 10

(C) 19

(D) None of these




123.

Nitin ranks eighteenth from the top in a
class of 49 students. What is his rank

from the last ?

fAfaeT 49 s=at & Fem & 3oRa WA W
& 3T O 3TFHT TURT FAT {90 ?

(A) 18
(B) 19
(C) 31
(D) 32

124.

Which figure among the four alternatives
A, B, C and D would

question mark in figure ‘X'?

replace the

X 7T RFedl A, B, C Tur D # ¥ &l
o A X A weears feg ' F e
9 3l ?

10




125.

Find out the figure which does not

belong to the group of other figures.

3 AT F GRT S 39 ITpfA-wAg
waftd 7gl © |

11
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